



▶ どちらが大きいか、等号が不等号で書きましょう。

$$\textcircled{1} \frac{3}{4} \square \frac{1}{4}$$

$$\textcircled{2} 1 \square \frac{5}{5}$$

$$\textcircled{3} \frac{3}{6} \square 1$$

▶ つぎの計算をしましょう。

$$\textcircled{1} \frac{1}{4} + \frac{2}{4} =$$

$$\textcircled{6} \frac{1}{3} + \frac{1}{3} =$$

$$\textcircled{2} \frac{2}{5} + \frac{2}{5} =$$

$$\textcircled{7} \frac{2}{6} + \frac{3}{6} =$$

$$\textcircled{3} \frac{3}{7} + \frac{3}{7} =$$

$$\textcircled{8} \frac{5}{10} + \frac{4}{10} =$$

$$\textcircled{4} \frac{3}{8} + \frac{3}{8} =$$

$$\textcircled{9} \frac{2}{7} + \frac{3}{7} =$$

$$\textcircled{5} \frac{2}{6} + \frac{3}{6} =$$

$$\textcircled{10} \frac{3}{9} + \frac{5}{9} =$$



▶ どちらが大きいか、等号が不等号で書きましょう。

$$\textcircled{1} \frac{3}{4} > \frac{1}{4} \quad \textcircled{2} \quad | \quad = \frac{5}{5} \quad \textcircled{3} \frac{4}{4} = |$$

▶ つぎの計算をしましょう。

$$\textcircled{1} \frac{1}{4} + \frac{2}{4} = \frac{3}{4}$$

$$\textcircled{6} \frac{1}{3} + \frac{1}{3} = \frac{2}{3}$$

$$\textcircled{2} \frac{2}{5} + \frac{2}{5} = \frac{4}{5}$$

$$\textcircled{7} \frac{2}{6} + \frac{3}{6} = \frac{5}{6}$$

$$\textcircled{3} \frac{3}{7} + \frac{3}{7} = \frac{6}{7}$$

$$\textcircled{8} \frac{5}{10} + \frac{4}{10} = \frac{9}{10}$$

$$\textcircled{4} \frac{3}{8} + \frac{3}{8} = \frac{6}{8}$$

$$\textcircled{9} \frac{2}{7} + \frac{3}{7} = \frac{5}{7}$$

$$\textcircled{5} \frac{2}{6} + \frac{3}{6} = \frac{5}{6}$$

$$\textcircled{10} \frac{3}{9} + \frac{5}{9} = \frac{8}{9}$$